

Garage (Residential) in Msida



Msida, Sliema and St Julians Surroundings



€37,200

Reference No: 240251083-258

 Total Rooms: **0**

 Floor Area (m²) : **17**

 Bathrooms: **0**

 Bedrooms: **0**

Garage (Residential) - For Sale - Msida

Msida Junior collage area - A selection of 1/2/3 car garages at basement level forming part of a new elegant block at various prices. Contact your preferred RE/MAX Agent for more information!

Features

Rooms

- ✓ Garage : 7.65 x 5.62 m (42.99 m²)
- ✓ Garage : 5.7 x 2.93 m (16.7 m²)
- ✓ Garage : 6.34 x 3 m (19.02 m²)
- ✓ Garage : 6.73 x 5 m (33.65 m²)
- ✓ Garage : 6.2 x 4.25 m (26.35 m²)

Gallery





Reuben Abela

RE/MAX Advantage

M: 99423812

E: reubena@remax.com.mt

T: 21222123

RE/MAX Advantage

Advantage Residential Ltd, Triq Dun Karm, Birkirkara, Malta